

$a_1 = 1$
 $a_n = a_1 + (n-1)d = 91 \rightarrow 3d = 90 \rightarrow d = 30$
 $a_n = Vn + \frac{r}{2}n(n-1) = 901 \rightarrow n = 20$

$a_1 = 101$
 $a_n = 999$
 $101, 101.1, 101.2, \dots, 999$
 $999 - 101 + 1 = 1129$

$a_1 + d, a_1 + 2d, \dots, a_1 + nd$
 $a_1 + d = 101 + 1 = 102$
 $a_1 + nd = 101 + 1129 = 1230$
 $1230 - 102 = 1128$
 $1128 / 1 = 1128$

$a_1 - a_2 = a_3 - a_4 \rightarrow (1^{n+1}) - (1^n - 1) = (1^n - 1) - (1^{n+1})$
 $1 - 1^n + 1 = 1^n - 1 - 1^{n+1}$
 $2 - 1^n = 1^n - 1 - 1^{n+1}$
 $2 = 2 \cdot 1^n - 1^{n+1}$
 $2 = 2 - 1^{n+1}$
 $0 = -1^{n+1}$
 $1^{n+1} = 0$
 $1 = 0$

$2r = r \rightarrow a_n = 1 \rightarrow a_{1r} = 1r \rightarrow r + 1 + 1r = 2r$

$1 + 9d - (a_1 + 11d) = 0 \rightarrow 9d = 10d \rightarrow d = 10$
 $11d + a_1 + 9d = 20 \rightarrow a_1 + 20d = 20 \rightarrow a_1 = -20d$

$\frac{d}{r}(ra + \epsilon d) = 0(a + rd)$
 $\frac{1}{r}(ra + 9d) = 0(ra + 9d)$
 $\frac{1}{r}(ra + 9d) = 0(ra + 9d)$

$b' = 0(a + rd) = \frac{1}{r} \times 0(a + rd) \rightarrow ra + \epsilon d = a + rd \rightarrow ra = d$

$a + (n-1)d, t_{n-r} = a + (n-\epsilon)d \rightarrow a + (n-1)d = a + (n-\epsilon)d + 1d \rightarrow d = 1$

$a_1 + \epsilon d = a_1 + r_0$
 $a_1 + r_0$
 $a_1 + \epsilon_0$
 $t_1^r - t_0^r = ntr \rightarrow (a_1 + 1 \cdot a_1 + r_0) - (a_1 + \epsilon_0 a_1 + \epsilon_0 r_0) = n(a_1 + r_0)$
 $\epsilon_0 a_1 + 1r_0 = n(a_1 + r_0) \rightarrow n = \epsilon_0$

$\frac{b-a}{n+1} \rightarrow \frac{r_1 + r_2(1 - \epsilon_1 r_1)}{1r} = \frac{1r + r_2}{1r} = \sqrt{r} = d$

$\frac{r}{r} = \frac{r_0}{r(n-1)} = \frac{1d}{n-1}$
 $a_{n+1} = 11 \rightarrow a_{n+1} = a_1 + n \cdot \frac{1d}{n-1}$
 $a_{n+1} = a_1 + \frac{1dn}{n-1} = 11 \rightarrow \frac{1dn}{n-1} = 9 \rightarrow n = 10$

$$a_n = a_1 + (n-1)d$$

$$a_{n+r} = a_1 + (n+r)d$$

$$a_r = a_1 + rd$$

$$a_{1+r} = a_1 + rd$$

$$a_n + a_{n+r} = a_1 + a_{1+r} \Rightarrow r a_1 + (rn+r)d = r a_1 + rd \rightarrow$$

$$(rn+r)d = rd \rightarrow \boxed{n=1} \checkmark$$

$$a_n = r a_{\frac{n}{r}} \rightarrow a_1 = r a_{\frac{1}{r}} \rightarrow a_1 + rd = r a_1 + rd \rightarrow a_1 = -d$$

$$d(k-r) = 0 \rightarrow \boxed{k=r} \checkmark$$